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Page a, line b from the top and page a, line ¢ from the bottom are denoted by a’

and a,.
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55 Delete footnoteThe variance of p is denoted by V(u). and add a new footnote

The variance of p is denoted by V().

Replace 88°-88 by the following:

| Bi(w) U A(w),

where, letting {Si(w)} be the set of all discontinuity points in the interval (¢, 5], we



define By (w) = (X (Sk—,w), X (Sk,w)) if X(Sp—,w) € A(w), and By(w) = [X (Sk—,w),
X (Sg,w)) if X(Sr—,w) & A(w). We take the Lebesgue measures of both expressions
to get

To Example in p. 128 the following remark should be added:
The d(a,b) is not a metric in R' U {oc}, as it does not satisfy

d(a,—a) < d(a,o0) + d(c0, —a)

for large a. Map R' U {oo} onto the unit circle in the complex plane by ¢(a) =
efarctana g ¢ R and ¢(00) = —1 and use the usual distance (< ) along the circle

for a metric instead of the d.

Replace 2103-210° by the following:
satisfying (a)—(c). Then the conditional expectation with respect to B, gives M,,_1+
A, =M _+A,. Since M, 1+A,_1 =M _,+A,_,,wehave A,—A, 1 =A,—-A .

Therefore A,, = Al for all n, since A} = A} =0. Hence M,, = M.
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